Lesson 6.6 Extra Practice Answers

1. a) f(x) = sin x has been stretched vertically by a
factor of 28;
D={x€R};R={yER|—-28 =y=28}
b) f(x) = sin x has been compressed vertically by a

factor of 35 and reflected across the x-axis;

D= {xER};RZ{yER—S )/SS} 4
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©) f(x) = sin x has been stretched vertically by a
factor of 21.5 and reflected across the x-axis;
D={x€R};R={y € R|—21.5 =y = 21.5}
d) /(x) = sin x has been compressed vertically by a

factor of ig; D = {x € R};

1 ]
R=qy€R|———=y=—
{y 18 =7 18}

e) f(x) = sin x has been stretched vertically by a
factor of 33; D = {x € R};
R={y€R|—-33 =y=33}

f) f(x) = sin x has been stretched vertically by a

factor of 3 and reflected across the x-axis;

D= {xeRIR= {yER—ZSySZ}
.a) f(x) = —g sin x

b) f(x) = 23.5sin x

O f) = sin x

d) f(x) = —26 sin x

e f(x) = —1(1) sin x

f) f(x) = 60 sin x

.a) f(x) = —1lsinx; D = {x € R};
R = { yER\—llsysll}

b) f(x) = *smx, D = {x € R};

¢ f(x) = 60sinx; D = {x € R};
R={y€R|-60 =y=060}

d) f(x) = —Zsinx; D = {x € R};

3 3
R=<4yeER|—=y=~
{y =5 =7 4}
a) amplitude: 20; period: 360°; equation of the axis:
y=—3D= {xER};
R={yeER|-23=y=17}

b) amplitude: 37; period: 360°; equation of the axis:

y=1D = {x ER};
Rz{ ER|L = <117}
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¢) amplitude: 23; period: 360 equation of the axis:
y=—7;D = {x €R};
R={yER|-30=y=16}

d) amplitude: 55; period: 360°%; equation of the axis:

y=—2D = {x €R};
R = { ER| -2~ = <—124}
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e) amplitude: 4; period: 360° equation of the axis:
y=—75D= {x €ER};
R={yeR|-79=y=—-71}

f) amplitude: 53; period: 360°% equation of the axis:

y=4D = {xER};

1 49
R = ER|IZ—=9y=4—
{y 1359 =7 50}

. a) Yes, the transformations have been applied in the

correct order.

b) No, the transformations have not been applied in
the correct order.

©) Yes, the transformations have been applied in the
correct order.
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